AHLES 6 SFUINE M
MFHEKRE BEMK 191%2 #/E RER 6644
xRz B miE 3. 24ha
H=E 3,519 1,348.50m3
FR/NBE hiziE B iE M OE | WSER|THEE] X % M B =
19l%2 B E/ ¥ — iR A # 14 11 5 0.45
16 13 38 4.94
18 14 145 26.10
20 16 320 83. 20
22 17 492 162. 36
24 18 517 206. 80
26 18 441 202. 86
28 19 311 171. 05
30 19 178 110. 36
32 19 88 60. 72
34 20 40 32. 40
36 20 15 13.50
38 19 5 4. 60
40 19 3 3.00
INET 2,598 1,082. 34
— A% F 44 16 13 14 1.59|Z=/A Y
18 14 70 11.54|ZZRA Y
20 16 136 32.31|Z=RA Y
22 17 131 39. 44|Z=RA Y
24 18 107 39. 12|ZRE Y
26 18 75 31.42|Z=RA Y
28 19 46 23. 72| ZRE Y
30 19 28 16. 06|ZZRAA Y
32 19 14 9. 24|ZRHF Y
34 20 6 4.65|ZZHA Y
36 20 4 3.50|Z=RA Y
38 19 3 2.63|Z=RAY
42 23 1 1.31|Z=RA Y
44 18 1 1.05|ZZRA Y
INGT 636 217.58
i KEEHM 166 31. 60
i 3,400 1,331.52
FR/NBE HhiziE B i M E | WSER|THEE| X K & B =
1912 =% AYDS | —HeAM 18 15 1 0.19
22 18 1 0.32
24 22 2 0.95
26 20 5 2.55
28 21 1 0. 64
30 21 1 0.74
32 21 3 2.52
34 20 1 0.86
36 23 1 1.11
40 21 1 1.22
INET 17 11.10
—RXEAM | 24 19 1 0.38|Z=RAY
INET 1 0.38
i BEE#M 0 0.00
i 18 11. 48
N & 3,418 1,343.00




/PR PAEYE B FE M B | WEER|TFHEE| X M B i
191%2 B 3 — iR M 0 0.00
INET 0 0.00
BEE 4 2
&t 2
/BE PAEYE B iE M 1 | WEER|THEE] X # # B &
19l1%2 Bk |954h2/\|—BE# 0 0.00
INET 0 0. 00
BB M 1 0. 31
&t 1 0. 31
/PR RERTE B & M B | WEER|TFHEE| X # 1E &
19[1%2 B L7 F8 | —HREM 0 0. 00
INET 0 0.00
KB #M 98 3.87
=t 98 3.87
L& 101 5.50

MNEET 3,919 1, 348. 50
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